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in Exercises 1-40, verify the identity.

1
2
3
4.
5
6.
7.

8.
9.
10.

1L
12.
13.

14.

s,
1.

17.

18.

19,
20.

21,

22,

23.

24.

25,

. 26.

,sintcsct=1
. Secycosy =1

. (1 + sin @)(1 — sin @) = cos® &

cot? y(sec?y — 1) =1

. cos? B — sin? =1 — 2500 B

cos? B — sin? B=2cos*f — 1
tan2 O+ 4 =sec8+4 3

2 —seciz=1—-tan’z
sin? @@ — sin® @ = cos? @ — cost o
cosx -+ smxtanx = secXx
2
csct 8
= csc fsec @
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cot? ¢ :
= gos t(csc? 1 — 1)
csc t
cot? ¢ .
== gsCf — sint
csc t
1 sec?
~—— - tan 3 _x B
tan 8 tan B

sinl/2 x cogx — sin®? x cosx = cos>x-/sinx

sec x(sec x tan x) — sec*x(secx tanx) = sec”x tan’x
1 .

————— =g¢scx— SInx
sec x tanx
secf—1
— =3cc
1 —cosf
cota +tan o = csc asec
secx — COosx — sinxtanx

1 1
e 4t ——=tanx + cotx
tanx cotx
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—_—— =cscx —sinx
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cos feot 8 :
————1=cscf
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1+ snd cos 6
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cos @ 1+ sinf
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m(% - 9) tan ¢ = 1
cos[(7/2) —x] _

snl(m/2) — 5] 7
cse(—x) ot
sec(—x) Tt

(1 + siny)[1 + sin(—y)] = cos?y
sinxcosy+ cosxsiny  tanx + tany

cosxcosy —sinxsiny 1 -—tanxtany
tanx +fany  cotx + coty
1'—tanxtany_cotxcoty—1
mtanx + coty = {any -+ cotx

tan x coty

cosx —cosy | Sinx — siny

sinx +siny cosx+cosy
\/Ts'm@__ 1+ sin 0
I—sing  [cos 6
/1 —cos@ 1—cosé
1+cosf  |sin g

cos? B + CDSZ(;—T - B) =1

secty — (:01:2(E - y) =1
2
, T
§in f CSC(E - .t) =tan¢

Secz(g - x) —1=rcot?x




